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CONCOURS ATS 2001

EPREUVE D’ANGLAIS – OBLIGATOIRE

DUREE : 0H30

1) I ……….him yesterday.

a) saw b) have seen c) had seen d) will see

2) He ……. English for 10 years.

a) is learning b) learn c) learns d) has been learning

3) You ….. better do it now.

a) had b) would c) did d) have

4) I ……… do it if I ……..time.

a) would/had had b) would have/had                c)
would/had d) would/have

5) He will come when he …………ready.

a) is b) will be c) would be d) has

6) He ………..when the telephone ……….. .

a) slept/was ringing
b) was sleeping/rang
c) sleeps/rings
d) will sleep/will ring

7) I am thinking ………..a new car.

a) to buying b) to buy c) of buying d) buying

8) Thank you ………..!

a) not to smoke b) for not smoking c) not smoking d) to smoke

9) It depends ………..the results.

a) on b) of c) in d) from
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10) He approved ………my decision.

a) on b) of c) from d) in

11) I prefer wine ……..tea.

a) to b) with c) at d) in

12) Inflation is an …………problem.

a) economics b) economical c) economy d) economic

13) Could you tell me where ………..?

a) the station is b) is the station c) is there a station d) the station

14) I look forward ………………from you soon.

a) hearing b) to hearing c) to hear d) hear

15) Cergy is …………..Paris.

a) 20 miles from b) at 20 miles c) 20 miles to d) 20 miles

16) Mr. Smith is my ……………..teacher.

a) physic’s b) physic c) physical d) physics

17) Why …………………him now?

a)don’t you ask b) didn’t you ask  c)hadn’t you asked d) asking

18) Have you ………..been to London?

a) never b) still c) always d) ever

19) There are ………….elephants in Africa.

a) less and less b) fewer and fewer c) more or less d) least

20) He didn’t know and John ……..

a) either b) too c) didn’t neither d) didn’t either

21) If I ……….you, I …………do it now.

a) was/will b) were/would c) had been/will d) would be/would

22) He is looking at ……….in the mirror.

a) himself b) herself c) each other d) themselves
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23) He ………..a lot when he was younger.

a) smokes b) would have smoked  c) used to smoking d) used to smoke

24) This …………John, I don’t recognize him.

a) mustn’t be b) can’t be c) should be d) needn’t be

25) What’s the point ………..him, he won’t understand.

a) of telling b) to tell c) tell d) to telling

26) I am not sure……..I should tell her or not.

a) either b) unless c) whereas d) whether

27) Where did you ……………your hair cut?

a) have b) make c) do d) got

28) I can’t help…………when I hear his jokes.

a) to laugh b) laughing c) laughed d) laugh

29) Never ………………such a thing!

a) I have seen b) I had seen c) I saw d) have I seen

30) There were ……………….people than expected.

a) far less b) much less c) far fewer d) many

31) …………..Americans eat hamburgers.

a) Most b) The most c) most of d) the most of

32) I suggest you…………..on time.

a) are b) be c) was d) were

33) He doesn’t speak English and can’t……………….

a) make himself understand b) get to understand
c) make himself understood d) have to understand

34) It is four years……………I started working here.

a) since b) for c) when d) ago
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35) He will tell him as soon as he ……………him.

a) will see b) would see c) see d) sees

36) Help me……………… this, please.

a) repairing b) repair c) repaired d) to repairing

37) John and Peter came……..

a) also b) both c) too d) either

38) He broke…………..last year.

a) his leg b) the leg c) a leg d) one leg

39) Who wants to be ………millionaire?

a) the b) one c) a d) an

40) He has been ………London twice.

a) in b) into c) about d) to

41) He has got ………….money but ………………

a) some/not any b) some/enough c)any/some d) some/not enough

42) There is no reason ………..he shouldn’t come.

a) of b) why c) because d) for

43) What is the reason………….your absence?

a) of b)why c) because d) for

44)………..I am saying is true!

a) What b) Which c) How d) That

45) He is difficult……………….

a) understanding b) to understand c) understand d) understood

46) Did you have any difficulties……………here?

a) to get b) getting c) get d) got

47) This is the most intelligent man I have…………..seen.

a) always b) never c) ever d) had
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48) I ………………..my umbrella, it’s not raining.

a) don’t need b) needn’t c) don’t have to d) haven’t

49) There is no solution ………your problem.

a) in b) at c) to d) into

50) ……………..in public places is forbidden.

a) To smoke b)Smoking c) Smoke d) No smoking

  


